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Instructions for candidates;-

1.
2.

3.

This exam is in two parts.
Part-1 is related to Mental Ability Test.

Part-I1 relates to Scholastic Aptitude Test. It consists
of nine subjects, details of which are given below:-

i}  Physics ii) Chemistry
iii) Biology iv) Mathematics
v) History vi) Geography
vii) Civics viii) Economics
ix) English

Each question carries one mark. All questions are
compulsory.

You have been provided with a answer sheet (OMR)
for this question paper.Darken the correct option
of each question in the answer sheet (OMR) with
black/blue ink. ' |

Rough work may be done on the provided blank
space.

There is no negative marking in this question paper.

Do not use white fluid on OMR Answer Sheet.
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Oviteerat met gefest:

1.
2.

3.

fog ifprr & grar fE9 J

ufgsT gvar WS TRE GietaT 575 AU J1

g gvar fefimt &t Gargr 575 ffg J1fen &9
2 felt 5, frigt o 29T I fégr 3-

i) Ffgafeforrsiiy awfee fefamrs
i)y e fefamrs iv) afes

v) fefgam
vii) BTIrfod HTAST viii) MY HHST

) WA

vi) FIE

. 79 f¥a yuw o ¥ 9 3179 Y\s 9gat 35

. 0§ fem yus g9 wet €39 He fodt ot 91

@37 fie (& W wra) FeT yps @ At €39 §
aul/ stwt frnvdt 578 99 & TWAG |

o & B Tt st v I FIET O

. fer yms (g9 e faerava (Bdifew) wrafoer a0t

T

. @39 e (6 9 »ra) Gua Teie efegs et wed o

Cicik |



" Rough Work/ d8vqy



Direction (Q. 1-2) Thereisa number series following
a pattern, one place is left blank, find the correct

National Talent Search Examination - 2014
T GaT3T ¥ yifeprr-2014, AN ERRT ( Class-X)

Mental Ability -

answer from the options.

Direction (Q. 6-7) The letters are given below
following a definite pattern, find out the missing

. 3) 8195

12,22, 69, 272, 1365,........
1) - 8196 2) 8184
4) 6830

15, 17, 32, 49, 81, 130,......
) 179 %) 211
3) 194 4 226

In acertain code FORGET is written as DPPHCU,
how would DOCTOR be written in that code

1) BPAUMS 2) BPAUPS -
3) EMDRPP 4) BPARPP

In a certain code ASSIGN is written as SASING
how would KIDNAP be written in that code

1) IKNDPA 2) IKDNPA .

3) IKDNAP 4) IKAPDN

A man starts walking from a point and walks 12km
towards north, he turned 90° left, walks a distance
and stopped. If the distance between initial and final
positions is 13kms, then how much distance he
travelled after turning from the north?

1) 1Km 2) 5Kms

3) 7Kms 4y 2Kms

letters to complete the pattern.

6.

a—ba-bb—ab-a
1y baab 2)
3) abab 4)

aaba
baaa

HWr&fAa GaraT

 f5aRE (yme 1-2) 35 fosi et b e ot mat fést

aret 3, faw fée st er niyst frimg 3 1ust 57 595 BE
&3 o9 o9 feasut fed Rt @39 g&

1.

12,22, 69, 272, 1365,.......
1) 8196 2) 8184
3) 8195 4) 6830

15,17, 32, 49, 81, 130,........
1) 179 2) 211
3) 194 4 226

fon v f§9 FORGET ® &% DPPHCU ¥, €/
g f&9 DOCTOR & 8% &t 3_arr

1) BPAUMS 2) BPAUPS

3) EMDRPP. 4) BPARPP

fair g f&9 ASSIGN ¥ 3 SASING I, €7
T f&9 KIDNAP ¥ a7 & 3= |

1) IKNDPA 2) IKDNPA

3) IKDNAP 4) IKAPDN

foa fewadt fan fig 3 Ssa Fag B v 12
faait: wrer 31 fag €T 90° 3 §8 R w= faprr
3 fag ga forr 1 ATT BT o fig w3 niryat
firg fée gat 13 fani: 3, 3+ @8 Gaa o8 W

¥ ¥I5 F we faet gat Sfoatst
1) 1 feaat: 2) 5 fat:
3) 7 et 4) 2 fait:

froew (yEs 6-7) 357 3 o wivet &t w4t fex fomfes
gu Jur nigAa 3, feR gu Fur § yor a9 wE FUT T

yIr &9 |

6. a-ba—-bb—ab-a
1) baab 2) aaba
3) abab 4) baaa



10.

11,

12.

13.

14,

m-nm-n-an-—a-ma-—
1) aamnan 2) ammanm

3) aammnn 4 amammm

If the position of the first and sixth digits of numbers
8903214675 are inter changed, the second and
seventh and so on, which number will be seventh

from he right end.
N 2 2) 6
3 7 4) 8

If the numbers from 5 to 85 which are exactly
divisible by 5 are arranged in descending series,
which would come at the eleventh place from the
bottom.

1 35 2) 45

3) 50 4) 55

If ‘blue’ means ‘green’, ‘green’ means ‘white’
‘white’ means ‘yellow’ ‘yellow’ means ‘black’
‘black’ means ‘red’ ‘red’ means ‘brown’ Then what
is the colour of the milk?
1) Black 2)
3) Green 4)

Yellow
Blue

A is the son of B, C is the grand-daughter of D, who
is the husband of B, How is A related to D?

1)  Son 2) Daughter

3) Mother 4) Father

If + means —, — means +, X means +, + means X,
Then find the correct alternative 14x2—6+10+4x2
1 01 -2y 16

H ™ 4) - 30

If J represent +, K represents —, L. represents + and
M represents x, Then

18M36L12K6J7="

) 1s 2y 36

3) 55 4 25

Jasdeep ranks 21st from the top side and bottom

side in'a class. How many students are there in the
class,

1 40 '2) 41
3) 42 4 39

10.

11.

12.

13,

14,

m-—w-in —a—a-—ma-—

1) . ‘wamnan 2)
3) aammnn 4)

ot andt 55t 8903214675 &9 A9 Ufod w3
&< Fas 3 Qe it @ mas Wun e =S
3t fagar @ Y R 3 113 mavs 3 a7
H 2 2) 6 ‘

3) 7 4) 8

ammanm
amammm

5 3 85 Ja W@ A WA W fa 5 575 yat 3§t
I I I&, § nug wed g &9 ffunr 7@ 3+
¥8 o8 yW 3 fapwa< Aavs 3 fagar s g9 ?
1) 35 2) 45
3) 50 4) 55

A99 ‘BB HISE ‘93T ‘T HIBY ‘fder e
HIBH ‘UIg™ UlsT H3se ‘8T T8 HIBH B'S
B'® HIBY ‘gIT J¥ I+ ¥U ° gar &t I ?
) T 2) s

3) war 4) aisT

A,Berize 3, C, Dt igdt I« fa Barust 3

AT D&% ot fawsr §7
1) - g9 2) ut
3) W 4 fuzr .

Had + T HIBE — , — HIBH +, x HIBT +, +
HIBY x 32 37 §5 fafienr fo* wat feamy 98
14x2—6+10+4x2

ol 2) 16

3) 04 4) 30

AYT J B HIBY ‘4, K T H3BY ‘-, L T HIBY
+ M3 M T HIBY ‘<’ T2 I~
18M36L12K637=7

1) 115 2) 36

3)" 55 4H 25

AREY O T fag Qs vt wid It o3
R F AT e 213 Aevs 3, I v few
% &% feforradt g5
1) 40 2) 41
3) 42 4y 39



15.

| 3) Ensure 4)

Arrange the following words in the alphabaticalily
order and choose the word that comes in the second
place. _ ,
1) Entry 2) Entreat

Efflorescent

Direction (Q. 16-17) Study the following venn
diagram carefully and answer the questions

16.

17.

18.

19.

20.

Which of the following represents boys who are
players but not singers -

—~Boys
%\
D B
Singers E / F } G \rPlayers
H A 2) H
3) B 4 F

Which of the following represents those players, who
are singers also but are not boys

H F 2) E

3 G 4 H

At what angle the minute hand and hour hand of a
clock are at 3'O clock?
1) 60° 2)
3)) 105° 4)

80°
90°

In a certain code language '467' means "leaves are
green”, '485" means "green is good" and '639' means
"They are playing", which digit stands for leaves in
that code

) 4 2) 6

3) 7 4 3

Which of the following figures represents the
relationship among Cement, Bricks and building
materials?

15.

5 €3 muet § “REt T9rsT € JH WgAe
34 »i3-feg IR fa faus awe gd Aurs 3 e
6

1) Entry 2)
3) Ensure 4

Entreat
Efflorescent

fsTen (URS 16-17) 35 3 ae & a9 § fons
&% U w3 fer 3 mufas yas (16-17) € Q39 fef

16.

17.

18.

19.

20.

Iz fafwat fe& Gu fagsr Fav & faoe S5
wafanit & saw@er § fraos fusdt o5, wearfes
Bar IE |

A C—m

D B
arfea E/F | G \—hat
N A 2) H
3) B 4 F

35 fofunt fe3 faver G99 Gt fuswdbn §
Tam@er ¥ faad arfex <t 75 (g =7 &at
5

1) F 2 E

) G 4 H

35 =v wEt &t fitet T3t get w3 dfout T8
Fet nirun feg fd3 faoret e a= g gt 051
1) 60 2)  80°
3) 105 4) 90

fai 83 IHT ‘467° ©F HIBY ‘leaves are green’
‘485’ TT HIBH ‘green is good’ M3 ‘639’ TTHIHY
‘they are playing’ I 18R &% 3 feu faua i
‘leaves’ ©T &% T

) 4 2) 6

3 7 4 3

Iz fefnt foF fage fdge, filte, et w3
fare migwt fegas st 7iu sen@er 37



Direction- Which of the following word canenot be
made from the letters given in question

21. REASONABLE

1) BRAIN

2) BONES

3) NOBLE

4) ARSON
Direction- (22-25) In each of the following questions
there is a relationship between two numbers/letters/
fugures on the left side of the sign ::. The same
relationship exists between the two, to the right side
of sign ::, Find the correct alternative.

k.2 J .,
T 11 R
S
T ) 10
LB
) 10 S

23, AZBY:CXDW:: HSIR: ?
1) YBXC- '
2) KPLO
3) JQKP
4) TGSH

24. Question figure

! ]

oooljoon ::IDQEH ?

Answer figure

alslnlml=lalSinlal Zlaln]
1 2 3 = 4
25. Question figure

SRR IR,

s SRER

1 2 3 4

fsgew -3 e mav € niuat § 35 fafiont fe§ faaar
HEE I g=fenr A Raer ?
21. REASONABLE

1) BRAIN

2) BONES

3) NOBLE

4) ARSON

fsaem: (22-25) ¥ fadr yust few fsmrs o & 0y
& wat/myai/fase 5o g mefug 3, AR wi &
it few &1 Qat iy Awrfug a9@ 58, &3 o feasut
fe§" mat femmr €t &= a9 '

K20 J ,
22. TR
Lt
D 11 ) 10
, £ 10
) 1o A
23. AZBY:CXDW:: HSIR :?
1} YBXC
2) KPLO
3) JQKP
4) TGSH
24. (ym& fdgw)
o[ looa :Ic]oa—t[ ?
(C37 fda9) .
o8 Dl{:} Boildon|Ban
i 3 R
25. (yEs [39) |
$63.803. 98"
N s Tl A v
(€39 M3a9)

—

1 2 3 4




26. How many such 5's are there in the given number
suquence each of which are immediately preceded
by 3 or 4 but are not immediately followed by 8 or 9
3595455358456735755452351
1y 2 22y 3 ST
3 4 4$H S ’

Direction- (27-28) Seven students A,B,C,D.E,F,G
are standing in a straight line as follows

1. Cis standing between A and G

2. Bis standing to the left of E

3. G is standing between C and E

4. D and F are to the right of C

27. Whois standing exactly in the middle?
"1y C- 2) A
3) E 4 D
28. Who is standing to the extreme left?
D G 2 C
3) B 4 E

Direction- Answer the questions (29-31) based upon
the figure

29. How many squares are there in the
given figure
n 5 2y 6
» 7 4) 8
30. How many rectangles
(excluding squares)are there in the given figure.
N 3 2) 5
3y 8 4 13
31. How many triangles are there in the given ﬁgure.
1 32 2) 41
3)) 37 4) 39

Direction- Number series in questions (32-34) in
each is derived after applying one of the rules
written. Find out the rule and apply.

1. Maultiply the number by 3 and add 3

2. Add the number fto its square _

3. Subtract twice the number from its square

32, 12,20,30,42

33. 8,35,80,143

34, 3,24,39,42

26. 35 fodt vat & 35t feu o 5 wifrd fad ot 3
Afaz I fan fé&g wea 5 3 fasas ufasT wig 3 /T 4
nQer 32 uo fea o e ¥ 9 8 7F 9 &F
e IR |
35954553584567357554523510
2 2) 3
3) 4 4) 5

fsgem: (27-28) A3 fefewrast A,B,C,D,E,F,G gt
wels feu U5 [ »ignad ¥ 75 |
1) C,A "3 G fesaa ygr J1
2) B,Ee#F uR ugr J|
3) G, C 3 E @ fegaa g 31
4) DwI F, C € " UH I8!

27. 3= fawas fevag ugr 37

nH C 2) A

3 E 49 D
28. 3= iR U fasas »dls Fugr J7

) G 2) €

3) B 4) E

fsaem-yEs (20-31) R Rige 2 wofag @39 fe€

29. f&3 a® 939 v fas <aar 751
1) 5 2) 6
3) 7 4 8

30. f&3 3 39 f&v fad mrfegaa

(=9art T fast) 351
) 3 2) 5
3) 8 4H 13
31. ¥ @ e ¥ fasbt fage 95
1y 3R 2) 41
3)) 37 4) 39

f59RR-yEs (32-34) I3« (&9 Jmt &t sat &3 o
famnit (35%5) 3 wrorfas 3| fea SR fa faw waft few 35t
fFE are st (g%) fe faae fam (g) sorer 87
1) 5§ s 5% ger 795 T ae O 9 faz daar
2) i feg e € TooT § Wyt a95T

3) wE I =gar fed wa v goeT wegeT

32. 12,20,30,42

33. 8,35,80,143

34, 3,24,39,42

5



Direction- What will come in place of gquestion mark
(?) in (35-36) questions . .

27 64 125
35 648 12527 2164
1 8 27

) 18 2) 9
3) 17 42
s - | 4
2 18 T Ay 2e 28
D 13 2) 10
3) 8 4) 6

37. A bus for Chandigarh leaves every thirty minutes
from the bus stand. An enquiry clerk told a passenger
that the bus had already left ten minutes ago and the
next bus will leave at 9:35 a.m., At what time did
the enquiry clerk gave this information to the
passenger
1) 9:10a.m. 2) &55am.

3) 9:15am. 4 9.05 am.

Direction- In questions (38-39) square/Circular
paper has been folded as shown with the dotted lines
in the given figures. The last figure shows how the
paper bas been cut. How would the paper look like
when unfolded.

38. Question figure

o | g yersay | pereyeresy
| SN I . { H

i ool
B8

Answer figure

o o o O
[ o
P o6 9 2

;
1 2 3 3
39. Question figure

fsoen- &3 are uEst (35-36) &9 yas 7 & Aar
] .

' 27 - 64 125
35_648 12527 21664
1 8 27
nH 18 2) 9
3) 17 4 4 2 -
s . _7 - s "!- ISR
s ’ PN
4 3 " 23 28 28
n 13 2) 19 :
3) 8 4 6

37. #W M7 F Ssterg we &t #w 99 30 fie e
Atet 31 Y=fdie dee 3 88 asoa & et §
faar fa @ 10 fire ufast It & w3 et 8W
9.35 3 A2Y want | fam At yefdte dev 3 &3
5o & feg guaT At § figh

1) 910W2F 2) 8:55H<9
3) 915H=F 4) 9:05 AT

faeeE-yas (38-39) Rw few Toar/dims arom & zas
& fog et @ 55 57 Aifawr fapr 3, R fx fise
e eawfenr famr 3, few fend nmsat s @ mgate
e fomrr 31 e EmE Quis fa firar Sdter ?

38. (yms N39)

TR
(@39 fg9)
Ena b dE e
1 3 3
39. (yus N39)
OE.
(@3 fdz9) 7




Direction- In questions (40-41) which answer figure
will complete the pattern in question figure.
40. Question figure (YHS fd39)

>
\eT¢/

Answer figure

E\EE

2 3 4
41. Question figure

Answer figure

RIR P E

e

1 2 3 4

Direction- In questions (42-43) The figure in each
of the question follows a series, select the figure
from the given alternatives which would continue
the series.

42. Question figure

T :
R 21

&

:

Answer figure

8| D

1 2 3 4

43. Question figure

! i}
R
e
Answer figure
s |
e || X
1 2 3 4

fsIem-Ya® (40-41) e fagar @39 Rgv yas Nsw
f&g f&sh oret 33ty § yor adar ?

40. Question figure (yE& [F39)

(€99 fd39)

2]

RN =
112347

fETeR-yEs (42-43) Ry RS o ymsr [dget et mat
& Wit su@e sel B3 ob o9 fed Aot fegmy g2

42, (yas fd39)

=
(&9 f¥3a)

B BRI

&=

‘? 3

1 EEE 4
43. (yps fs)
- o
{ X 29 ¥ ?
(@37 )
PG || & || %D
1 2 3 4



Direction- In questions (44-45) among the set of
figures select the one that is different from rest

Gl l|[*[a[Alo)[o]a]

44, |FelalllEiellGIv]ii=1e]
xfVjliivixijlle(+]l{xfal]l -
1 2 3 4

s |BIA G

1 2 3 - 4

Direction- (46-47) If a mirror is placed on the line
AB then which of the answer figure is the correct
image of the given figure

46. Question figure Answer figure

AN

8 : 1 2 3

47. Question figure

A

Answer figure

Direction- In questions (48-49) question figure is
embedded in one of the Answer figure. Find the
correct one in which it is embedded.

48. Question figure Answer figure .

{ | [LEIYRK

1 2 3 4

49. Question figure Answer figure

% T ~3 3 K

feaem-yme (44-45 ) &g 3 e fifget fed i s
Tt B8 wiEEr 3 1 QR gE

Gl i+ Ta)l[ATo]i[c]a
44, {lolAaljiDioflixiviiie]
xtViileixHO|+]l{x]a
1 2 3 4
| R|A 2=
1 2 3 4

f590H- Yas (46-47) g Ao eoue § 3w AB Qua
dfemr 7@ 3t I3 fafimnt-fed* fagar fige R o

fage e siw ySifiw G@ar?
46. (yus fdgT) (€37 fge)

P

M N

8 : 1 2 3
47. (yws fdga) (€39 fdga)

A

Db ¢

TR 1 2 3 4

f59eH - ya® (48-49) v yms 39 @39 [Nsqt
fe& fai e & gfumr Ifewr 3 | faw feg feo ghmr
3, @net &= 77

48. (yue [T (Go9 Rgg) .
1| [EETYRK
- 1 2 3 4
49. (yEs f¥39)




50. Find the waterimage of the question figure

51.

52.

Question figure

/a\
AT
Answer figure
NN/ V VV
1 2 3 4{
 Physics

The equivalent resistance between points 1 & 2
of circuit shown is

v o
\ }
un
{ v acL
an =
1y 3Q 2)  4Q
3 Q 4)  6Q

Which of the following ray diagram is correct?
N Q\F

1) l-‘\u N

50.

51.

52.

uet fee due 3 yus 39 o ysifae fad frar
a9 Wrear ? .

(s fd=9)
AN
(€39 [@39)
NI vv vv
1 2 3 4
Ifaa fafarrs

35 &3 reae €@ fig 1 w2 2 ¥ fevas Ions
yf33q faesr G ?

L j v |

an -
N 30 2) 40
H 5Q 4)  6Q

o &3 ot faes ur 39 feg faog fags aur
fdgg atw a?

| . (INF -

D I-'\U EI

_F

2) 7F \\L )
A F

3) PN T |

N TFT Y —




53

54,

55.

56.

57.

If 10% electrons each having charge of
1.6x10'°C passing through a conductor in 0.1 sec
then current in the conductor is
1} 16A 2) 100A
3) 160A 4) 10A

What is the ratio of number of neutron to proton in
12389
92 s

L2
) 738 ). 30
, B s
) 52 )

Which of the following ﬁgﬁre represents uniform
motion of a moving object correctly?

ars

arig
kY £
1y 4 2) 4
%axia
—t o L+
ari Nads
s £
H 4 H1 .
& -_B-b - ._)-b AaRg

Iron nail sinks in water because
1. Weight of nail is less than the buoyant force
acting on it due to water.

2. Weight of nail is equal to the buoyant force
acting on it due to water,

3. Weight of nail is greater than the byoyant force
acting on it due to water

4. Weight of nail increases in water.

The value and S.I. unit of gravitational constant G is
1) 6.67x10" Nem?/sec?

2)  6.67x10"'Nm?/kg?

3) 6.65x10" dyne cm¥sec?

4)  6.67x 10"%g/m?

53.

54,

55.

56.

57.

10

Aag 10* fedags faost @ gow o ava
1.6x10"°C ¥ €95" & fai v8a few 0.1 Afdw
BEt y=o q95 I Ow uma fev fdar ade

y=Zrfag 39!
1) 16A 2) 100A
3) 160A 4) 10A

LU 3T feu fa@aat »iZ erat & ffipr or
waurg f&aT G| : _

143

%2
D 733 ) %

238 146
3 92 4 92
J& &3 o a9 feg faugr gy fea mis
&8 95 gt ¥Rg § waw@er i

arls ark _
s Xy
1) '}i - _ 2)12 {
—>E ° L5+t |
s ) Yafu
s iy
3) 4(_ 4)¢i .
o St s >t

fes it fds FuateingrIduz I oo sy

fag At 31

1) S dtfdserag @I Fad ust <
Cemam I uz Jer 31

2) Sy A fdsersg QI Sarog vt &
v s e wwe Jer ¥

3) Bdfds o s usta
e 5% 3 Ta Jer T

4) BodtfdgergouatfdamraIgaery)

Re¥ fenmit g3<t wige #a G o faetar ws

w3 S1. fearet &t Jat &)

1) 6.67x10"2 Nem?¥/sec?

2)  6.67x10""Nm%kg?

3) 6.65x10"" dyne cm?¥/sec?

4)  6.67 x 10"°kg/m?



58.

59.

D
2)

3)

4)

60.

61.

62.

63.

The velocity of sound in vaccum is -
1) 332m/s 2y 335mfs
3 0 4y  228m/s

The phenomenon of electromagnetié_ induction is
The process of charging a body

The process of generating magnetic field due to

current passing through a coil

Producing induced current in a coil due to relative
motion between a magnet and the coil

The process of rotating a coil of an electric motor

Potential energy of your body is minimum when you
1)  Are standing |

2)  Sitting on the surface of earth

3) Sittingon a chair -

4) Lie down on the surface of earth

Which of the following correctly represents the
relation among charge Q, potential difference V and
work done W.

Vv

D V=wxQ 2) =—
Q W
V=-3X V=—v

» Vw8 Q

The human eye can focus object at different distance

by adjusting the focal length of eye lens. This is due .

o

1) Presbyopia

2)  Power of Accommodation
3) Near Sightedness

4) Far Sightedness

Chemistry

The correct order of first ionization energy among  63-

the following elements Be, B,C,N,O is
1} B<Be<C<O<N
2) B<Be<C<N<O
3) Be<B<C<N<O
4) Be<B<C<O<N

58.

1)
2)

3}

4)

60.

61.

62.

11

Tat gdar ur 3 faoey feu fasr e 37
1) 332m/s 2) 335m/s
3) 0 4)  228m/s

. faret St fge at 97

fai eng & 99w a@s ©f yfafenr &

J= &t yfafenr &

7S 9O M3 §58 fegard At st Jet § 3F
raae few Ufag de Uer T wier 31 fow fafonrr
&, Tam a9 fed aew foor guat 4399 Ufeg ade
ger 9

feer ufatan fan o famet e <t gzt Ut 3

Ay 3 ufe Afafaa Qe gos Adte €3 o sarer
¥ e

1) FIF YT IE AT

2) Uodt I e AN

3) IAt T HES AN

4) UgSt I e AN

AR W T9A Q i3 USHS W39 V & wiynt

Fig Bet fagsr mitaes sia T
Vv

= % W=——

) V=WxQ 2) Q,
3 W 9 Q

W4t nhy F fedwsT fan few oy wrud 85w &
At § ufeeafaa aoa fes-fas gatnt 3 ueht

eAgnt & S AgTt T feng Taar #er o—
1) it
2) WMEIHT AT

fsae fanet Sm

oo femet &n

Infee fefamis

f&3 8 43 Be, B,CN,0 & ufast »rfess
(ionization) GaFT T BT FH T |
1. B<Be<C<0O<N
2. B<Be<C<N<O
3. Be<B<C<N<O
4. Be<B<C<O<N



65.

66.

67.

68.

69.

What is the formula of blue viirol
1) Conc.H,So,

2) FeSO,.7H,0

3) CuS0,.5H,0

4) ZnSO,.TH,0.

The electronic configuration of three elements
X,Y,Z are '

X=238

Y=2,8,7

Z=2,8,2

Which of following statement is correct about these
elements.

1) Xismetal

2) Y ismetal

3) Zisnon-metal

4. Y is non-metal and Z is metal

An aquous solution turns red litmus solution blue,
excess addition of which of the following solution
would reverse the change.

1. Baking Powder

2.  Lime

3. Ammonium hydroxide solution

4. Hydrochloric acid

The tendency of formation of long chains by
combination of same atoms in themselves is known

as:
1. Isomerism
2. Catenation
3. Allotropy
4. Cracking

Whihe of following is not a base
1.  NaOH 2. KOH
3. NHOH - 4.. €CHOH

The two elements X and Y have 5 and 7 valence
electrons respectively. What will be the formula of
the compound formed by them?

1. XY 2. XY

3. XY 4. XY

3
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65.

66.

67.

68.

65.

318 89 (blue vitrol) B awfefea gav IR 7

1.  Conc.H,So,

2. FeSO,.7H,0

3. CuSO,.5H,0

4. ZnSO,.TH,0

fas 33 X,Y,Z & feBacfaa 39319 (electronic
configuration) 3:

X=28

Y=2,8,7

Z=2,8,2

Jo7 fod aga’ (statements) f&F fausr Tas
(statement) fegst I et 517 T

1. Xfexag 3

2. Yfeaoa 3

3. Zfegwog 3

4. Yfeanwmadm3 zfegoa )

fear 78 (aquous) WIS &S fHeHA WIS & &187 39
firer & 135 fefour fed faosT ws fon fafer &

Guer ¥
gfdar s
g& ©F UTET (Lime)
BT TESHaRTES
Teigasd Hing
fear 3gF @ ot o7 wrun few fug & &t
At g=ge & yfeast § afoe a&:
1. wrfERidad (MPHEET)
2. JIAdwE (mFET)
3. wBa (fgugusm)
4, wiféer (3vs)
It fafumt fod’ faost wo aat 31
1. NaOH 2. KOH

3. NHOH 4. CH,0H

€ 3T X M2 Y fagt fou pew 79 B feo
fedaes 5 w3 7 Ts, fevst enrer geve ae

Gfarer = &t g3g R ?
1. XY 2. XY
3. XY 4. XY,



70.

71.

72.

73.

goe ow

75.

Which of following has more electron than neutrons?
. F 2. AP
3. 07 4. Na'

The largest number of molecules is in

1}  22gm Co,

. 46gm CHOH
3. 36gmHO -
4. 54gm N, O,

Pentane has a molecular formula C,H,,. It has
1.  5covalent bonds

2. 12 covalent bonds

3. l6covalent bonds

4, 17 covalent bonds

The organic acid present in vinegar is:
1. methanoic acid

2. ethanoic acid

3.  propanoic acid

4.  butanocic acid

Biology

Which of these functions are associated with
vacuoles?

Expulsion of excess water and wastes.

Providing bvoyancy to enable the ceil to float or fly.
Storage of sugars and Proteins

Defence against Pests and Pathogens.

1) abandc 2) candd

3) acandd 4y aandc

Often after a crop of cereals such as rice, wheat or

maize, leguminous crops such as beans, grams or

groundnuts are grown this is because the later.

1) Are easy to grow in depleted soils Poor in
Mineral Content.

2) Can grow with minimum irrigation

3) . Have root nodules containing bacteria which
can fix Phosphorous and Potassium in soil

4)  Are symbiotically associated with nitrogen

fixing bacteria and enrich soil.

71.

72.

73.

74.

I

75.

13

. 3=t fehpat fev faw feg 5@ 3 <y fedaes
T -
1. F 2. Al
3. 0O? 4. Na*

Wwwmmw?%ﬁwﬁ
fazat 3=ait

1) 22 3 Co,

2) 46 I C,H,OH

3) 36 3H H,0

4) 54 3 N,O,

Umes e mefeq g3g CH 3 fon fev

1) 5 ARGV 903 35|

2) 12 Afondda a6 I8

3) 16 AfoGwAa dus 51

4) 17 nfodAx U5 I5|

wradifex Afns fage fed feg der 3G &
Ffie o5

1. fwasfea s

2. feaifeq Sifas

3. Juafes #fnz

4, faQerafeq wfvz
fite fefarrs

Ja |

TBF YSt MF €ae uTagt T f5aR a9w 9%
mmw@m?ﬁ%ﬁ?m
ﬂ*@aze?mwwmél

Hag 3 Udls o §99e a9¢ 95

AiETEnt w3 darent 3 Hefun yors aee 5|
1) abM3c 2) cm3d

3) acwM3d 4y amMIFc

»aAd MEH AR 3%, = W3 Hat &t e I
mméﬁ#wmmm
ot a3t #i=t AtEt T fow o g ¥ fa miw

1)

Uz yat &t et & o § adhrt on
fer &9 y& dahrt &bt 95 fam @
Raretatur eREaR w3 Teritwnr o firdt fég
Afgdigds a9 AGE TS|

fer =g € Aforiet dadter &5 RETS
It g8 | selzdns o Afgdtaes 9
it § QuaQ =gt o5

2)
3)

4)



76. Which of the following hormone is released in
excess quantity during excitement?
1. Cortisole
2. Serotonin
3. . Adrenaline
4. Norepinephrine
77. Which of the following is an incorrect match?
1. Sea anemone — Echinoder mata
2. Tape worm - Platyhel minthes
3. Roundworm - Nematoda '
4.  Earthworm - Annelida
78. Tobacco is injurious because it Contains.
1. Cocaine 2.  Heroin “
3. Nicotine 4. Morphine
79. Fibrinisa......
1)  Soluble Protein
2. Insoluble Protein
3.  Enzyme
4,  Antibodies
80. At Compensation point, the rate of two opposite
processes taking place simultaneously in a plant
“become equal. Name these two Processes.
1. Photosynthesis, Transpiration
2. Respiration, Translocation
3. Photo synthesis, = Respiration
4. Photo synthesis  Evaporation
81. Match the Column I with appropriate items from
column I1
Column1 Column I
i.  Turmeric a. Tuber
ii. Garlic b.  Adventitious buds
ii. ~Potato ¢. Bulb o
Iv. Bryophyllum d. Rhizome
Select the correct alternative
1. id iLc ,  iiia iv.b
2. ia ii. ¢ - iitb iv.d
3. id ii. b iii.a VA
4. id ii.a iii.¢ iv.b
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76.

77.

78.

79.

80.

Wvaar &9 faamer 41

1. o As

2. Hidgefas

3. nEEfss

4. F-nidefas

fors fauz &9 fagz fusa ‘At & 5

A-Aatis-feardtssoner

-
]
:

mr-nsifEsT
39y FaAs ugarer J fa@fa fem fég &
1. @ 2. foafews
feadels 4. NIElS
TElgds &t J ?
1. wEIHE @
2. ITwHTHS Pt
3. WEHAE
4. wEAEsT

Ufemwt &9 yIt yast fire 3 € Su-wy fafowret
< u9 ffa m™& T At T Qs @ faforet @
& 9H |

1. JYa'" FEBRT, TRy GInaHs

2. AW fafonr, Revarads

3. yaw ARdae, A fafenr

4. YIH IMBEE, TEIAES

81, IaH | v &3 maer o Higs o1 Il &5
4:
THA | aed 1
i JoE a. ae
i BIAE b. . muRERT ISPt
iy c. UBY (ABT &T)
iv UEdde d. Ietad

rdt feasu § g
1. id ii.¢ iii.a iv.b
2. ia it.c iii.b iv.d
3. id ii.b iii.a iv.c
4. id ii.a iii. c iv.b



82. An organ is used well, it will develop better and If
Is not Used, it is likely to become vestigial this was

" given by
I. Darwin 2. De-Vries
3. Lamarck 4. Mendel

83. Blood Capillaries Can easily Rupture due to the
deficiency of
1.  VitaminA 2.
3. VitaminD 4.

Vitamin C
Vitamin K

84. Name the solid waste product present in yam

(Zamikand)
I.  Gum 2. Rubber
3.  Resins 4.  Raphids

85. Cut leaves remain green for longer time when dip
m
1. Cytokinins 2. Ethylene
3. Gibberellins 4.  Auxins

Mathmetics

86. Three metallic spheres, each of radius 6cm are
melted to form a right circular cylinder of radius 6 cm.
The height of resultig cylinder is
1) 50cm 2)
3} 24cm 4)

6 ¢cm
8lcm

87. Two dice are thrown and sum of the numbers on two
dice is noted. What is the probability that the sum is
neither 8 nor 7

2 15

) 36 2) 36
17 23 .
3) 3 4) T

88. If the sum of first 7 terms of an A.P.is 49 and that of
17 terms is 289, then [ 7th term of A.P. is

1) 33 2) 25
3) 17 4) 29

89. If a*t+b?+c*-ab-bc-ca=0, then
1) a+b=¢ 2) b+c=a
3) c+a=hb 4) a=b=c

82. I% fafipyr &9 faw & Sfowr fa & &9t vy
frmrer g9 &9 d 2 Qo femrer Jar feafnz
ﬁ%wm@ﬁ@aeaﬁ‘ﬁvm?ﬁs*@ameﬁﬂ

HIT I AFCT J1
1. 3Hfes 2. B-=de
3. 8w 4. HE®

83. ¥y& dfuaret faw @ we a5 wast a7 ¥
et I8

1. feefise 2. feofis mt
3, feefis st 4. feafis &
84. ¥t are &g 8w &ae yurent o &t &F 3
1. e 2. ouF -
3. 3fas 4. dfesw
85. I fofunt 4T fan g fadi g ues B $3 58
i &% mt oot 9% T o5
1. AEldaEifsaa 2. dEsls
3. forsefssw 4. wafas
afes

86. 6 AHmal fenim =78 fas wa=t difent & fuursr
& 6 A »aq fenrm e fox due (ke garfenr

farar 3 fem dz= &t Q@uret 5Sqi
1) S0RH 2) 6°4
3) 240 4) 8imH

av.émmwmmb@&wé‘
yuz Afwmret & A Sfowr ater 9) fgveaT &t
I<ait fa yyz 7= 57 8 J@ w3 & ot 7 T2

25 [5
3 2 3%
17 23
3) 3% 4 %

8s.faRt #aafeaa w=t (&.uh) St ufashat 7
Hfunret &7 AT 49 32 wid ufosbut 17 Afipyret
T 7,289 23O AP It At Mo Jeait

1 33 - 2) 25
3) 17 4) 29
89. A&d a’+b*+c?-ab-be-ca=0 J& I
1) a+b=¢ 2) b+tc=a
3) c+a=b 4) a=b=¢
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90.

91.

92.

93.

94,

95,

96.

The factors of x* + 4 are

1) (x2-2x+2) (x*+2x+2)
2) (- 2) (x+2) (x+2)

3) (x+1)(x¥+4)

4) (x+2) (x-2) (x*+2)

In aqBc if 24:2B.2C: =3:2:1 and BC=6cm then
length of side AB is ' )

1) 4dem

2) 4.5cm

3) 3.5cm

4) 3cm

The value of

tan (19 tan (2°) tan (3°) oo tan (88%) tan (89°)

1y 0 ) 2

3) 4 4 1

The value of (%)+[-277) _(%) isequal to
8

1 63 2) 0

3) 349 9 =2

Which real numbér lies between 2 and 2.5

D 2) &
) N 4 b

One natural number is seiected at random from 1 to
25. What is the probability that selected number is
composite number

3 17
b3 2) 5
9 . 2
3) 3 -y 5

IfA, A, A, denote the areas of three adjacent faces
of a cuboid, then its volume is

D ALALA, 2) 2A AA
3}  JAL AZA3 4) (A AAY

16

90. x*+ 4 © NSHHB IS
D) (x3-2x + 2) (x*+2x+2)
2)  (x2-2) (x+2) (x+2)
3) (x+1)(x*+4)
4)  (x+2) (x~2) (x*+2)

91. adpc F&F 24 2B:2C:= = 3:2:1 M3 BC=6cm A
¥ 3t g o Saret 3t
) 4R
2) 45WH
3) 3.5W
4 3md

92. tan (1% tan (2°) tan (3°)
or HE J<ar
N o
3) 4

tan (88°)tan (89%)

2) 2
4 1

s (5]-2)-(3) womoe

27 7 189
-m
1) 63 2) 0
=513
3) 349 5 =7

o4 fam TRSfex Hfr o i 2 w3 2.5 Sfe@aa

) BT 2) V8
3 ¥ H P

95.1 F 25 3 yfgaa fifipret § fea fifr gt
aret ¥ farest uzr a9 fa g3t ffter o7 Afierr
composite number =

3 17
1) 3 2) 75
9 2
K} 2% 4) 3

96. % A, A, A, fait uz= @ 578 & 3% urdt
& gzt @ A9 I 3t O wee e wifess
'S J<ar

1) ALAL A, 2) 2A AA,
3) Jarazas 4 (A AAY



7 1.5
L rltor2
31373

7
2412
3

07. A student was asked to solve the fraction

. 1 .
and his answer was 7 . By how much was his answer

wrong?

47
N 1 2) rr
47 47

3) 270 4) vy '

1 0
A

—y 3 '

98. The value of [2 X ) is...
H o0 2) |
3) x 4) 2

99. How many times will the wheel of a car rotate in a
journey of 88 km, if it is known that the diameter of
the wheel is 56cm?
1) 25,000times
3) 50,000times

2) 35,000times
4y 60,000iimes

100. What are the real roots of 2™+ =]

2 5
N 0--5 2) -I.E-
2 5
3 3 4) 1.3
101. The product of 35 i3 ¥3a3 is
) IE) 2) 3
3) 343 49

102. The perimeter (in cm) of a squre circumscribing a
circle of radius ‘a’ cm is
1) Bacm 2) 4acm
3) Zacm 3) l6acm

103. The radius (in cm) of the largest right circular cone
that can be cut out from a cube of edge 4.2cm is
1) 42 cm 2) 2.1cm
3) 63cm 4y 84cm

17

I.{.]le‘ré
57 fear fefonradt § ufora feima ~ 7 45
3

msﬁﬁwﬁwn@@an—a%ﬁn@w
€39 faar ama At ?

47
H 1 2) =
47 47
)] 20 4)3
IO
i)z
1Y
—_ 3
98. (2 * ] o U &t 3= ?

) 0 2) 1
3) x 4) 2

99. 88 faditeg v meg 3w g5 M fead ag o
U faast edt dptar a9 udie o femm 56 M
ygT I=
1) 25000 =9
3) 50,000t

2) 35,000 T
4) 60,000 =t

100, 20073 =] & FRIfeT ¥& faus IS

1) o3 2) -13

3) %.l 4) L%
101. i3 43 ¥3a3 © JTAEH &t J=ar
B 2) 3

3) 343 9 B

102;§Haaare*ufarw(mh€)ﬁwaéarhn'é
Wed Waq fenH ‘a’ AN 8T 939 I
1) 8aRmW 2) 4a M

3) 2amd 3) l16amH

103. €7 ¥ 3 IF &7 Jaet iy & wigw ferm (Mo
few) faar 32ar frags fa féw we, fAmer fier

4.2 A9 T feF dfon famur 31
1) 4200 2) 2.1°H
3) 637 4) 84AM



104. Two cubes each of volume 27cm? are joined end to

105.

106.

107.

108.

109.

110.

end to form a solid. What will be the surface area

of resulting cuboid
1} 54 cm? 2) 8lcm?
3) 90cm? 4) 75em’
s . 3n' Sn

In an A.P the sum of first ‘n’ terms is Y find
its 25th term.
1) 976 2) 76
3) 75 3) 975

History

Name the Myanmar's democratic leader freed from
House Arrest in November 2010.

1} Aung San suu ki

2) Ban-ki-moon

3) Nelson Mandela

4) Kofi Annan

whose name is associated with kesari?
1) Jyotiba phule

2) Dr. Ambedkar

3) Balgangadhar Tilak

4) Mahatma Gandhi

Protesting against Simon Commission in a
demonstration Lala Lajpat Rai sustained fatal
injuries. Where did the incident occur?

1) Amritsar

2) Meerut

3) Jalandhar

4) Lahore

Where was the first underground railway built?
1} Hyderabad -

2) London

3) Leeds

4) Manchester

Which of the following is correctly matched?
1) World Health Organisation : 1946

2) International Labour Organistion : 1948

3) UNESCO : 1946

4) Universal Postal Union ; 1956
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104. ¥ W, 99 fea v mrfeas 27 e 3, @ fafent

105.

106

107.

108.

109.

110

fier & et were sefen favur &1 fem 33t 52
WaTF ¥ HITl 4I3eH at J2ar?

1) 54 A2 2) 81
3) 90 M 4) 75me
fat s afefaa Z3t Tt ufgsnr <n® zawr &
ﬁ33%+— ¥ifew &t 25at ZaH uzT T
1) 976 2) 76
3) 75 3) 975
fef3aw
foiwrg & @ Bxdget A3 o at 5t § fang

wIg FHael 3 2010 fE9 yaI dtar fapr 7
1) Wi fs §at

2). F&-at-Y&

3) 3BAS HEET

4) dF wEs

‘Andl’ mET &% faw e &t Afewr wrer §7
1) fAadtared

2) 3v.wEead

3) 9% durae fasa

4) HITSWT gt

AEs afies e 99T a9e I8 s sWug
T8 AHF Tt T 9 A | feT weaT 4R et
At ?

1) #iane

2) H3S

3) AGUT

4) B9

uhwww@amﬁ&aafenfrW?
1) Jegme

2) Bus

3) 38R

4) Waaned

5 18fpyt (¥9° fagar ge Aw auer 37

1) femne T farss : 1946
2) WMIFHS HAET Ul : 1948
3) GAAF : 1946

4) WIFIHET T W : 1956



1.

1i2.

113.

114.

115.

il6.

117.

IMF stands for what? 111.IMFE St HIBsT &7

1) International Military Force 1) feeadnss fimedt dom

2) International Monetary Fund ' 2) fecadues idedt &w

3) Indian Monetary Fund 3) fosts Raedt &

4) Indian monetary Force 4) featrs Haedt Sam

Adolf Hitler's autobiography is .... . 112.%3B% foewe 9@ Ae-At=at 7.

1) My left foot _ 1) Har a7 U9 (My Left Foot)

2) Mein Kampf , 2) 3T fwae (Mein Kampf)

3) My life 3) HaT #lEE (My Left) ,

4) My Land and my people 4) W3t @St w3 HF & (My Land and My people)
When was the Tonkin free school started? 113. Tonkin free School &' BF Tfewr ?

1) 1907 2) 1905 1) 1907 2) 1905

3) 1908 4) 1906 3) 1908 4) 1906

Read the following statements and choose the 114.3% 8% aus g w3 At feasy It §< a49:
correct option. A HMe didt & o=t @ wetd owys o, fumst
mohammad Ghori laid the foundation of the Turkish IH 908, § 99 F 397 &9 Fow Avew ©F
rule in India after defeating prithvi Raj chaman, the ata @t '

last Rajput King of Delhi. B gﬂ ﬁg‘ g As |

The Sufis mere hindu saints. 1) A 93 44T B3 T

1) A is false but B is true. 2) IBI TUT A 317 T

2) B is false but A is true. 3) AW3 B €& HIt I

3) Both A and B are true. 4) AMJ B €5 aBI IS |

4) Both A and B are false.
115 3-Udt g3 &9 Afsa mig At

’]l")hz :Ez;En;ente ‘was t‘l;c;l military alliance in 1) FoWat, nrAedtT w3 it ot
rm Y, Austria an .ungry 2) @éﬁ,mﬂgﬂ'ﬁ
2) Britain, France and Russia . 3) 49, Yagars W st ot
3) Egypt, Portugal- and Romania 4) UBF, goardtur w3 o. B E. ot
4) Poland, Bulgaria and U.S.A. *
Geography g
Which of the following groups of rivers have 116. faa=tt satr & AYY ©F AaH AETs {999
their source of origin in Tibet? f&g 37
1) Brahmaputra, Indus and Sutlej 1) g3, fig g rasw
2) Ganges, Sutlej and Yamuna 2) JNT, ASSH M3 THaT
3) Brahmaputra, Ganges and Sutlej 3} gOHUET, JeT »3 RIBH
4) Chenab, Ravi and Sutlej 4) fozmg, o=t M3 AgEw
The lines joining the places with equal temperature  117. & fRd 3rws =& marst § i@z erstwr
are known as- dyret & at afue 95 ?
1) Isobars 1) AHEE e
2} Contours 2) AHES Juret
3) Isotherms ' 3) PV =t
4) Isohalines 4) FHYTT Iy

19



118. Which of the following factor is responsible for gully  118. it} &7 s8teTg aemi 35 fafmit fev fan aae

erosion of soil? Jar I?

1}  Wind 2) Rainfall 1) 4= 2) =@y

3)  Snowfall 4) Wheat 3) fous 4) Fwodt Bfae
119. The term “Taiga’ is associated with which of the 119. 33 s o fafunt fe9 faw & ffug 37

following? 1) 3B TS

1)  Deltaic Forests 2) YT WEE

2). Deciduous Forests 3) &% "di=sfuT 79w

3)  Cold Temperate Forests 4) F-HT Y ¥I%

4)  Equatorial Forests

120. Which of the statement is correct with regard to  120. § H 347 g7 faaa™ as At 37

equator? 1) feg ez & €34 o §i8 fed Suet T
1) It passes through the Northern Hemisphere 2) foT o9 & ¥yt new 3B o5 &uwat 3
of India 3) feg 999 § & goram fifimit few S3<t 0
2) It passes through the Southern Hemisphere 4) e 3o fos Suet 9F &4t 3
of India.

3) Itdivides India in to two equal halves.
4) It does not pass through India.

121. Which is the main source of irrigation in SouthIndia? 121, Su&-3793 few fmret er Hy-rruw fagar gt

1} Tanks '2) Canals 1) 38Y 2) &fger
3)  Wells 4) Tubewells 3) W 4) fe€wRw
122. What is the main cause of winter rain in Punjab? 122, Uwg few AoEhHF S gTaw ©F Hy J9s ot 97
1) Monsoons 1) WEHE JIv=r
2)  Western Disturbances 2) U=t arzasht
3)  Northcold Winds 3) GIt-&at a=ret
4)  South Hot winds 4) dyet I JeT=t
123. Which of the following crop needs maximum water  123. 35 fafnt fo@ faw = § Y51 Jqend JT
per hectare? gt S gz ger v ‘
1) Millet 2) Sugarcane 1) gTHa" 2) 5T
3) Maize 4) Wheat 3) Wat 4) e
124, *Active’ ‘Dormant’ extinct are type of 124 fafenmts’, ‘yua’, 5 38 fam St famit 35 7
1)  Mountains 2) Plateaus 1) YJEs 2) us9
3) Cyclones 4)  Volcanoes 3) e 4) A=SEW

125. Which of the following state of India has less 125. 3 fafimi™ o9 399 v faoar I7 We =F

population? THTI?

1) Uttar Pradesh 1) §39-yer

2) Bihar 2) faga

3) Karnataka ‘ . 3) dd3rear

4) Arunachal Pradesh 4) MIETH YOF
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126.

127.

128,

129.

130.

131.

132.

Civics

Who are the part of electrol college of President?

1)  Elected members of Lok Sabha

2) Elected members of Lok Sabha and Rajya
Sabha

3} Elected members of Lok Sabha and Rajya
Sabha and State Legislative Assemblies

4) Nominated members of Lok Sabha and Rajya
Sabha

Who is the leader of house in Lok Sabha?
1) Prime Minister

2) Vice-President

3) Speaker Lok Sabha

4) Leader of opposition party

When did Indo-China ‘Panchsheel’ agreement or
implemented?

1) 24 August 1945

2) 29April 1954

3) 20 October 1962

4) 24 October 1945

Which of these is related with the Legislative

Power of Indian President?

B Appointment of Judges of Supreme Court

2) Signing the bills passed by Parliament

3) To present Budget in Parliament

4) - To reduce and condone the punishment of a
criminal,

In which organ of United Nations, all countries take
equal take equal participation?

1) Security Council

2)  Trusteeship Council

3) General Assembly .

4) Social and Economic Council

Who among the following is elected by the principle
of proportional rcpresentat:on"

1) Governor

2) Speaker

3} ChiefElection Commissioner

4)  President

When was SAD (Shiromani Akali Dal) established?
1 1920 2) 1925
3) 1924 4) 1923
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126.

127.

128.

129,

130.

131,

132.

aIfed HASY
THEIUTT ¢ 9= 135 fou faua-faud W
S e 05 ?
1) 9 AgT @ 9 J¢ Heg
2) 89 73T T I AT & 9 I¢ WEg
3) &q AIT, I A9 2 oA oot fews
AETer & g¢ J¢ HEe
4) BF AIT T IH AT € SHAT HEd

mwmmwﬁwmwﬁs’wwa’?
1) yuors #3dt

2) Gu-geaust

3) mitas Ba AT

4) festtyat @ 33 &
FII-uls Judts mEar g dfemr?

1) 24 »IIAI, 1945

2) 29 »i®, 1954

3) 20 WAZFET 1962

4) 24 WdJHTd 1945

feu &t fev fags aow THeaust ot feusa
Ag3t % AUz 37

1) BUdY da¢ & ¥AT €t fagast

2) #AE gt WA 13 I° fawg 3 TAene

3) Ane <9 gAC Un Fa5T

4) nyTdt € FEr § we@eEr-zurer

A9ag gmeg © fan »er feg e @F SO
NS 35 1

1) pdfepnr ufgme

2) Zdnetfay ufare

3) Mot HaT

4) wirgEa 3 AT ufone

fegst feg fanet S wiguaw yItfsuzr &
wog 3 St AET 37 '

1) IHUE

2) Mt

3) Wy 9= dIfimse

4) dgeaut

et maSt E% T 7aH a¢ e ?

1) 1920 2) 1925

3) 1924 4) 1923



133.

134.

135.

136.

137.

138.

139.

140.

Which Power operates in upholding the
Fundamental Rights?

1) Military Power

2) Legal Power

3) Moral Power

4) [ll-Legal Power

Which consititutional Amendments implement
Rural and Urban democracy in India.

Tick the correct order?

1) 52nd and 46th Amendment

2) 73rd and 74th Amendment

3) 42nd and 64th Amendment

4)  74th and 73rd Amendment

Which among the following include in Union
Legislature in India?

1) Lok Sabha and Rajya Sabha

2) President and Prime-Minister

3) President and Governor

4) Supreme Court and President

Economics

Which of the following is the factor of Production?
1) Reut 2)  Capital
3)  Exchange 4) Interest

What is meant by Incuced Investment?

1)  Investment motivated by the Govt.

2)  Investment made by the private entrepreneur
3)  Investment that depends on income and

profit

4)  Investment independent of income and
profit

LIC and UTI are................ Institutions

1)  Non Banking 2) Gowt.

3) Semi Govt. 4)  Private

............ the the compnent of Monitery Policy
1)  Deficit Financing

2)  Public Works

3 Bank Rate

4) Public Finance

In India, the sex ratio in 2011 was
1 43 2) 833
3) 910 4) 868
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133.

134.

135.

136.

137.

138.

139.

140.

Wfsa wfgarat filg 35 et faodt nast a
aaget 37

1) Afsx madt

2) TGAT Bt

3) &fsa maat

4) JT-TSaT wIST

fan—fan Afewsa Av gt 393 feg 0g 2
Bfget Ba3IT ©F PIT AETYST &t aet 32
1) 52& 3 469 A

2) 73=F I 74t Ra

3) 42T T o4 AT

4) 743 T 739t A

o fafit foT d'odt feus ufsa feg 3=-
d= mder 37

1) &X A9™ 3 IH AT

2) JHEIUST T YU SHITT

3) dHIUST 3 TAUH

4) AUFH 332 T THIIUST

I HASd

I= fefinit f=S faor @aues v AUs 37

1) ®Irs 2) Ust

3) =TT 4) feors

ifeg fadm 3 at a= 37

1) Faad gver Fnas fow

2) faet Soitntt gwar At faem

3) fa2udwmes w3 g et wgor 3 faesge
e JI

4) fsRm e M Brg St I AIIT
a2l

LIC W2 UTI FrgT=t I5|

1) Fgafaar 2) FAIEEt
3)  MIT AT 4) foat frgret
.................... , Wefaa a13t e feq I3 ofan) T

1)  we ot feg-feemr
2) FHIRHAA Ao

3) ®xo9

4) FITAST MHYES

gz feg 2011 feu fergst wom migwa...... A

) 943 2) 83
3 910 4) 868

L]



ENGLISH

Q 141-145 Read the passage given below and answer the following questions.

11

HI

141.

142,

Most human beings are awake during the
day and sleep at night. Owls live the opposite
way. Owls are nocturnal . This méans that
they sleep all day and stay awake at night.
Because owls are noctq'rnal , this means
they must eat at night. But finding food in
the dark is difficuit. To help them, they have
special eyes and ears. Owls have very large
eyes. These eyes absorb more light than
normal. Since there is light during the night,
it is helpful for the owl to find food in the
dark, -

s

Owls also have good hearing power. Even
when owls are in the trees, they can hear
small animals moving in the grass below.
This helps owls catch their prey even when
it is very dark. Like owls, n_l_ice are also
nocturnal animals.

Being noctureal helps mice to hide from
many different animals that want to eat them
like snakes, lizards ete. exeept owls. -

The word “diurnal’ is the opposite of the word

. ‘nocturnal’. Using the passage as a reference, we

can say that an animal that is ‘diurnal’

1) sleeps at night and is awake during the day.

2) hunts during the day and sieeps during the
night. '

3) sleeps every other night and is awake during
the day.

4) hunts during the day and at night

Based on the information in paragraph I it can be
understood that an animal with smail eyes

1) mustbe diurnal

2) has trouble seeing in the dark

3) can see very well at night

4) s likely to be eaten by an owl.
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143.

144,

145.

146.

According to the passage, owls can find food in
the dark using their sense of ‘

1) Sound |

2) ‘Smell

3) Touch

4) - Taste’

In paragraph 11, the author mentions the word

~‘prey’. It means

1) anoise that an animal makes during the night
2) asmall animal kept as a pet at home

-3) ananimal hunted by other animals

4) an animal that hunts other animals

Based on the information in the paragraph IiI, it

can be understood that '

1) mice can hide from owls

2) mice and owls both hide from lizards and
snakes ) )

3) birds and snakes hunt lizards

4) owls hunt mice

(146-147) Read the dialogues and choose the
most appropriate options to complete the

missing dialegue.

Doctor : Take this medicine for a week and you’l}

start feeling befter.

PAHENt: ...oovooneeertirerennrionrssernnes SRR

Doctor : Are you sure? Hts® the best one in the

market. :

Patient; Yes, [ am. Can you please prescribe another

one.

1) What is the ideal dosage for my weight?

2) No, it is too early to prescribe another
medicine.

3) Itlooksasif'the illness has already been cured.

4) ButI've used it before and it did not help at
all.



: i i;*’ -
147. Amit: How did you like the movie you shw Tast *

night?

Sanjay: I can’t say it was the best..I’ve ever seen.

Sanjay: Certainly not. Do not waste your time,

1) Didyougo alone or with a friem;l_?_

2) lknew lcould countonyou..

3) Then you wouldn’t recorfmeml it, would
you?

4) What do you mean by saying it depends?

Q. (148-149) Find the septence that is closest in
meaning to the one given for each question.

French is thé onl.y=.la5guagé_ other than English

148.
spoken is five continents.
1) Unlike French, Er;ghsh is spoken in five
continents.
2)  Frenchand English are the only languages that
are spoken in five continents.
3) French and Enghsh are often spoken in
commercial circles.
4) French is the most widely taught second
language after English
149. After failing a doping test at the seoul olymics, Ben

Johnson was stripped of his gold medal.

1) Since Ben _Jo'hnsin-lr §6nfés§¢d having used
drugs his gold medal was taken back

2) Although Ben Johnson failed the doping test,
he wasn’t dlsquahfied from the Seoul
Olympics.

3) If Ben Johnson hadn’t been tested posmve
for doping at the Seoul Olymplcs, he wouldn’t
have lost his gold medal.

4) At the Seoul Olympics many players were
disqualified '

Q. (150-153) Choose the appropriate option to
complete the sentences.

150. The beginning of the monsoon.................... any
"day now, so for the last few days, the farmers
.............. their fieids.

1} has been expected/were preparing
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e 3) s expected/have been preparing

3) was expected/have prepared
... :4). -hasaxpected/is preparing

The art 9f ;melting jron is thought ... .
‘m in, the ancient tnmes near East, p0551bly in the
Eastem Anatolia,
. 1) to haye been dlscovered
2) ,havmg,been discovered
. E”,;{,) discovering
- 4). todiscover

182, .......0nl 2 disappointifig speech the

' nnnistermade ldst night" -
H oW
“2) " Tht ¢
3) What
4) . Which .
153, Un1ess you Have somethmg meamngfijl to say, ..
L i !, viot listen {o you
1) coukd
2)" ‘would rather -
3) ought

“4).. usedto. . S

Q. (154-155) Complete the sentence with the most
appropriate options.
154. - The moment I saw the sad face of my daughter.....
1) [Ifek very happy: _
~ 2)  T'knew something was wrong -
3) She.had gone out for a weak
4) Ifailed to have a discussion.
155. Although Sucheta was not good at studies,
1) Shedid not do well in the exam
2) She did not appear in the exams

3) Shedid fairly well in her exams
4)  She skipped the exams
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156.

157,

158.

159,

160.

161.

162.

163.

'(156 159) Choose the correct synonym

(meanmg) for the word underlined i the given
sentences

Raja has a fragile frame
1) strong 2) agile
3) sound 4) weak

My chances of going abroad are remote
1) fair 2) nearly
3) distant 4) good

After half an hour, the rain ceased

1) stopped 2) seized

. 3) reduced 4) stormed

~ The rbadg should be repaired immediately
1) hastily 2) slowly™
3) later 4) at once

(160-161) Choose the correct passive
sentence from the options givem below:

I will buy tickets in advance

1) Inadvance I will buy tickets

2) We will buy tickets in advance

3) The tickets will be bought by mein advance
4) Buy tickets in advance.

Do not laugh at others

1) Others should not langh

2) We should not laugh at others

3) Others should not be laughed at
4) We cannot be laughing at others.

(162-163) Choose the correct preposition
from the options given below:

................ the hills are villages

1) Over 2}  Under

3) Beyond 4) On

Don’t laugh.......cceceerneeen. the poor beggar.
1) i 2) at

3) over 4)  with

Q. (164:166) Choose the correct word/words which

164.

165.

166.

167.

(a)
(b)
(©)
d

-3) lookingon .  4)

best fills/fill the blank from the options given

The Romans were ............ccoeeeine.. SCi€NCE.

1) badin . 2) badto

3) bad for 4) bad at

-What are you ........i.........iin the kitchen
cupboard? - C

1) lookingin . - :2) - leokingfor . ..

. lookingto

Her uncle died. in a car accident. He was quite

rich. She .............. all her uncles money.
1) succeeded 2) caught
3) inherited 4) won

Match each word to its meaning

decade (i) known for something bad
notorious (it) é_c_hild who has lost both parents
orphan . (iii) a period of ten years

bachelor (iv) a man who is not married

Which is the correct matching

) (aHii (M (cHii (d)-iv
2) (a)ii ()i (c)-i (dyiv
3) (aH (b (cHii  (d)yiv
4) (ayiv (b)ii (cHii (@i

Q. (168-170) Choose the word which best fills the

168.

169.
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blank from the options given below

David always builds.............. in the air.

1) Palaces '

2) mansions

3) castles

4) forts

There is no point crying over ............. milk
1} sour

2) spoilt

3) spilt

4) stale



170.

171.

172,

173.

174.

175.

176.

Julie has a sweet . ....c..oevremneee
chocolates and cakes, .. ..

1) tongue

2) - mouth

3) taste

4) tooth

(171-176) In the following passege there are

. She likes

-someé numbered blanks. Fill in the blsnks by

selecting the most appropriate werd- for each
blank from the options give: -

Alexander Graham Bell was a college professor
who mvented telephone. The whole world has (171)
........................... enormously from his invention.
Bell had a wife who was hard of hearing his dream
was 10 (172) i a hearing
device so that his wife, whom he loved (173)
could hear. He spent every spare
dollar and (174) ............ rreeeesrasmesasieresaosansans every
spare moment he had, trying to fulfill his dream.
Unfortunately, the professor failed to achieve his

.....................

(175) but he was far from being a
failure. S '
Instead of a hearing device, he invented the
telephone. Although he (176) ........cccoeeeeeee. to
hcflp one, he ended up helping millions.

1) favoured . 2) benefited

3) ,ﬁ,‘.(;ndured, o 4) _grown

3) draft . 4) harvest

1) sweetly .+ 2) fully

3) dearly 4) grossly

1) controlled 2) devoted

3) exhausted 4) plotted

1) goal | . 2) orgn

3) motive - 4) job -

1) inspired 2) aimed

3) moved 4)  directed
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177.

178.

179.

180.

(177-178) select the antonyms (opposnte) of
the glven words from the optlons g:ven

Ignorance

1} remember
2) forget

3) refuse

4) knowledge

Reap

1) plant

2) sow

3) cultivate
4) plough

(179-180) Choose the word which best fills
the blank from the four options given below

A R is a long period without rain

4) cyclone

Jacqueline enjoys ................ pastries and cakes
1) ~ Cooking

2) Dbaking

3) heating

4) boiling



